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il = ot 5] = 9]
| OH jn OH
= 2 = = 2 8 s N
1100 SS Xt 663,805,572 872,229,429
1110 Fsit=3 659,851,642 856,036,989
1111 &3 0
1112 o= 659,851,642 856,036,989
1120 JIEtR =Rt 3,953,930 16,192,440
1121 SHIIHH 2 0 0
1122 823 0
1123 Ol=32 0 11,837,570
1124 JtXle= 0
1125 &= 9 elAl 3,953,930 4,354,870
1126 &= 3 0
1129 J|EtR = Rt 0
1200 S X+ 24| EFXL&F 12,391,651,690 12,337,673,602
1220 S AXHAH 10,175,834,836 10,166,971,536
1221 EXARIEH 0
(2223 EXNRIIIESHEIEES)
1224 &I EE X 0
1225 s=s3l 10,175,834,836 10,166,971,536
1229 J|EFE RHAFA 0
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7 = g 5] 3 ]
e | OH = OH
2 8 = s % = s N

1240 J|EF XA 70,942,000 46,262,000
1241 MANMSIES S 5,584,000 5,584,000
1242 LXES=S 65,358,000 40,678,000
1243 ZIIHH = 0
1249 J|EF XA 0

1250 F2E2&I|= 0 0
1252 A3 BHAI|= 0
1253 23BHASI|= 0
1254 A2 E2HEESI|Z 0
1255 A2 EHEAI|S 0
1256 A3EBNMEE=HIIS 0
(2224 A2EEIISHIEYS)

1260 €2D|l= 2,144 ,874,854 2,124,440,066
1262 LoAAAI| =S 0
1263 LoAA=0|= 408,798,691 404,505,403
1264 Lol&st)|l= 0 0
1265 L& XIS 50,746,237 50,702,579
1266 BASEE =Xz 1,685,329,926 1,669,232,084
(2225 2o D|2HIEL2) 0

1300 & K&k 4,537,124,600 4,537,124,600

1310 R DE Xt 4,537,124,600 4,537,124,600

1311 &X 4,537,124,600 4,537,124,600

_2_

ol
P
a
[T
El




(2 H45 MA

(&9 &)
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1312 4= 0

(2312 AS2IIA2SAHH) 0 0 0
1313 252 0

(2313 RESAIIAI 2 EH ) 0 0 0
1314 J1HI DI+ 0

(2314 J1H DI P2 IHA 2L S| o4) 0 0 0
1315 &JIHI&E 0

(2315 TIIHIZ2IpAr 23 oH) 0 0 0
1316 Xt&F=28H+ 0

(2316 Rt PrT2EIbar2t e o) 0 0 0
1317 &M 0

(2317 S N2ZIHAF2ESAHH) 0 0 0
1318 22 7= 0

1319 A4IIAHE

1320 & D& Kot 0 0
1321 2& D& Kok 0

I & F A 17,592,581,862 17,747,027 ,631
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e Jl=s

7 = g 5] g ]
fun § OH 2 OH
2 8 = s e s N
2100 FS= 1 260,717,577 445,501,240
2110 S|t =3 0
2111 S| X 2 0 0
2120 tl=+== 3,269,631 33,424,590
2121 LEtol == 0 0
2122 M A0l == 0 398,062
SEETTELD 0
2129 J|EtUl =3 3,269,631 33,026,528
2130 == 257,447,946 408, 169,500
2139 J|EtE =3 257,447,946 408, 169,500
2140 JIEt == 0 3,907,150
2141 0IXl=3 0 3,907,150
2142 Jt=3 0
2143 XIeHs 0
2149 J|Et= =5 0
2200 D=2 61,534,885 69,813,899
2210 &J|Xt 3 0 0
2211 EIIxXte 3
2212 X2t
2213 =W T
HSE3SHUXNUHZE(RH,JI=22) -4 - SACHS W
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ot S g J| & J|
S 2 oK 2 oK
- = 2, 8 = 2, &
2220 JIEt D 2 7 61,534,885 69,813,899
2221 LB S 35,000,000 35,000,000
2222 AI|0IXZ22 0
2224 NRESFHNAEHIS 26,534,885 34,813,899
2229 JIEt D H 27 0
3100 7123 17,270,329,400 17,231,712,492
3110 2010122 12,253,385,536 12,253,385,536
3112 Hol 12,253,385,536 12,253,385,536
3150 A= 2 0 0
3152 F2LAARHEZ 0
3153 F2EMASHE 2 0
3154 Y2 L2AFEHEZ 0
3156 ASRNSN= NN 0
3160 Qlo|=el= 2,144,874,854 2,124,440, 066
3161 WEIIEE 2 0 0
3162 LoII =B Z 0
3163 LolH==e 2 408,798,691 404,505,403
3164 ol=er= g2 0
3165 olg|= =gl 2 50,746,237 50,702,579
3166 LYSASHS Y I 1,685,329,926 1,669,232, 084
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] = o 5] & ]
ot 5t =2 = A = A
— < - = 2, 8 5 o, g
3170 J|2=x & 0 0
3171 EXA=IISHEIEY
3172 J|28ItES 0
3130 SE Xt 2,872,069,010 2,853,886,890
3131 &J[0I1E2G XN 2,853,886,890 378,207,502
3133 IS L XA 18,182,120 2,475,679,388
Sret J122 S 17,592,581,862 17,747,027 ,631
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